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JmarHoctuueckas pabora o uadopmaruke 18.11.19
yuutenb NeonnHa U.A.

9 knacc. Ol
(8 TopeTnueckmx 3agaHnin + 4 npaktuyecknx=12, max-14 6annos)

1l 2| 3| 4| 5] 6] 7] 8| 9/10(11|12(13|14|15|hTor [Omenka
ByxTosipoBa 1] 1 1| 1 1 [ 1 1] 1} 2 2 13 4
WBaHoBa 1l 1 1| 1 1 1l 1 2 0 9 3
[IaTpos 1 1 1 1 1 1 0 6 3
I'puropses 11 1] 1 1] 1 5 3
KykoBuIIBIH 1 1 1 3 2!
OnuHLEB 1 1 1 3 2!
Apeduna 1 11 1| 1 1 [ 1 1] 1} 2 2 13 4
CeunukoBa H. 11 11 11 171 1 1 1l 1| 2 2 12 4
Tapacosa 11 1] 1 1 1 1] 1 1f 11 1 0 10 4
AreeB 11 1] 1 1l 1 2 1 8 3
Caeunukona P. 1 1 1l 1 1l 2 1 9 3
AHTHUIINH 1 1l 11 1 1 1l 1 0 8 3
Komuccaposa 1 1 1 1 5 3
JIeHnCEeHKO 11 1 1 1 4 2|
CrapueB 1 1 1] 1 4 2|1
CocHuHA 1 1 0 2 2!
Buxosaszen 1 1) 11 1] 1 1 1 1| 1| 1) 2 1 13 4
Arynosa 11 1] 1 1 1 11 1| 1| 1f 2 1 12 4
PomanoB 1l 1 1| 1 1 1l 1] 1| 2 1 11 4
EMenpsiHoBHY 11 1] 1 1 1 O 5 3
Kunxunos 1l 1| 2 1 5 3
Kanuuanuena 1l 1 1 1l 1 5 3
KyprykoB 1 1 1 3 2|1
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